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fdw  (o1-05) : F=fafaa # @ U=
T ATel e BT ahE B
1. (a) fawermor ) Rzer=
(c) Targemgor (d) fasemor
2. (a) WYMo (b) Sego
(c) e [d) HelEH
3. (a) wed® (b) wrdelis
c) wTefus (d) warfdfeos
4, (a) AR (b) R
(c) HET=R [d) afeemr
5. (a) forcrore (b) feremoret
) Frerafe (d) fereeriafer

frdw (06-10) : Fr=fofed o wEl &
fore U v 9@ Ry Y Rwed ¥ F TH-

6, forwd wAF O A B-
(a) wifpE (b) wafifa
(c) raferaT (d) T
7. 9% WU a0 W 9Y 99§ A
dren &
(a) TeIf (b) wate
(¢ W & (d) SUNTE
8. W I N weAr Rl 8-
(a) ¥ (b) TR
() oY (d)
9. forad AR—YR <@ W W
) gyedl (b) et
(c) TEE (d) arcTeTEEl
10. Mg ¥ g Ffdv—
(@) TS (b) IR
(¢) wU= d) e
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frder (11-12) @ Fefefea qemdl/
wrifaal @1 ol wa Ry g fAEe 4 9
g;’f_

11, ToOR @ 9R W Fer o Aaef 8-

(a) TS BT

() "o @R &

(c) =l @A

(d) HRT FE B

1T T HeA @y o B

(a) T T

(b) I ARG

() #EM a5

(@) W ¥

fdw (13-16) : fr=folad sEmr @
Wt s & fewear 8, v R |
9 gfe—

o = fore avg @1 81, W9 9% 954
qg W1 B, §9 99 g% @ Wik, wieq 4
IO | O HEl Weal | Ags aiedl € {6 9w
TR-aR Ao ar svE] e <81 g @ e,
W9 T e B ¥ eR @Y o &, g wifi
B9 gy A o wifty 7 geeT a¥ER = e
g, forew 7y war angR ok Wity # =
ﬁﬁgﬁﬁmﬁaﬁmﬂ#ﬁﬁaﬂf{ﬂ?m.
7T & 999 ¥ WE= 89 W, 8 B SR
& 985 fBear| 99T 9N AoV WaEl
AT TEAT B 1 oWd oUW & @8 W A
¥ | Ay, IME—FeaAT W 99O U B o
g el 3 e ave-deaa WIS &
S R, g ¥ 9w T e fRF & for g€
Srar 21 9 B # weR 98 9w gl 8
3N 7 99 TEeT PE we~ e §1 5= W
werg wifead Sige T S e T4 B |
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13, TENY @ Wal e 8-

(a) AT
(b) EF—aH
[c) @ 3R 3
(d) ez Wi
14. TS Bl SN Wag AMERY Wl
wE?

(a) 9% Wifeasd iEd o @l 8
(b) foraam 2 999 § w9 B @1 99

T ey el Hear

(c) wm & Uff B I8 D TR
o iy @Y aar &

(d) foremr & 999 ¥ 98 w9 81 S
-4

15. Wifeas Wi &1 o S s T g 7
(a) -G (b) Hamw
¢ TSR (d) wfr

16, e & ger & gE wE W e 7
(@ < @ 9 7 W @ W@ AW
e
(b) ©F W T EM B G HA 74T E
() WEIY WIS BF F W HAEN T E
(d) IAE-HEA ¥ TOH @ A
a8
frdg (17-18) : ffoitas o=l &
el e W gaq 9ee Ry Ty et |
| I -

17. af=
(a) RIS (b) GTEH
e) 9E9 (d) T
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18. T4
@ freer (b) EHN
(c) Tmer (d) @IFEE

fadw (19-20) : F=fafes o=t @
faeim oo @1 9ge S99 f&v v Rwed § 9
P

19. A
(a) 3G¥A (b) F==A
(c) fAfeem (d) e
20, gftz
(a) YT (b) W
(@) dfe (d) mer

Directions (21-24) : Read the passage
and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about whether men are
stronger than women is often unclear
because the word “strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and to argue otherwise is o
aversimplify the topic.
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21, Why is the debate about whether men
are stronger than wormnen unclear ?

{a)] Because both genders are equally
strong in all aspects.

b} Because the word “strong” may
mean many different things,

[c) Because men are always stronger
than women,

(d) Because strength is only measured
by physical power.

22. According to the passage, men generally
excel at which of the following ?

{a} Living longer.

(b) Tasks requiring precision.

{c) Lifting heavy objects and physical
labour.

(d) Resistance to disease.

23. What strength do women tend to have
over men, according fo the passage 7
{a) They are better at lifting heawy
objects.
(b) They live longer and have stronger
resistance to disease.

(¢} They can strike forcefully,

{d) They are stronger in physical
labour,

24, What is the main message of the
passage 7

{a)} Men and women are equally strong
in all areas.

(b) All women are incapable of
running, jumping and doing
physical labour because they are
not strong,.

{¢) Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be
considered when comparing

genders.
(B
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Directions (25-29) : In the following
gquestions, out of the four alternatives, select
the word nearest in meaning to the words
given.

25, Vitriolic
(a) Imaginative (b) Sprightly

[c) Vivacious (d] Abusive
26. Candid

{a) Kind {b) Courteous

{c) Generous (d) Frank
27. Profane

(a] Assert (b Benefit

fc) Lengthen {d] Desecrate
28. Interpolate

(a) Clarify (b) Investigate

(c} Reverse (d) Insert
29, Nadir

{a] Asylum (b} Heaven

[c) Lowestpoint (d} Zenith

Directions (30-34) : Choose the
alternative that is most nearly opposite in
meaning to the given words.

30. Fiasco
{a) Success (b} Joy
{c) Fun (d) Disaster

31. Confident
{a) Imprudent (b) Impatient
{c) Diffident {d] Reluctant
32, Mammoth
{a) Significant (b} Small

{c) Unruly {d) Noisy

33. Engrossed
{a) Occupied (b) Inattentive
{c) Engaged {d) Absent
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Altruistic

{a) Selfish (b) Inhuman

{c) Brutal (d] Wicked
Directions (35-37) Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

3s.

36.

37.

To leave no stone unturned
{a)
{b)
{¢)  to work enthusiastically
{d) tochange the things
Through thick and thin

to keep clean and tidy

to try utmost

{a)] bigand small

(b} large object

{c) under all conditions

(d) thin and fat

Ill at ease

{a) Restless {b) Worthless
{c) Listless {d) Sleepless

Directions (38-40) : Out of the given

alternatives, choose the one which can best

be substituted for the given words or
sentence.
38. One who cannot be correctad.
{aj Incurable (b) Incorrigible
{[c] Hardened ({d) Invulnerable
39, One filled with excessive and mistaken
enthusgiasm in a cause.
(a) Pedant (b) Patriot
¢} Fanatic (d) Martyr
40. An office with no work, but high pay.

{a) Honorary (b} Sinecure

{c) Ex-officio (d) Reticent
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The loudness of sound depends upon the

()

velocity of sound waves in the

medium
(b} amplitude of the sound waves
{c) frequency of the sound waves
{d) frequency and velocity of the sound
waves
et A e Y B 2
(a) WEEH A @ o @ A w®
b) & adf & s U
[c) M TRAT B S-H'qﬁf o
(d) ey Tt @ emgf o AT W
The absolute zero temperature is 0
Kelvin. In degree celsius (*C) unit,
which one of the following is the

absolute zero temperature ?

(@) 0°C (b) -100°C

ie)
UH I d@gEE 0 wfesw ¥ fed
Hiewgw (°C) 7Fe 4 WA ¢ aOEH
frfofad # @ - & ?

-273.15°C (d) -173.15°C

{a) 0°C {b) -100°C

e)
Brine is an aqueous solution of
{a) (b) NaOH
e (d)
v e (gTeA) fwemr weitg Regs 27

-273.15°C (d) -173.15°C

NaCl

NaHCO, Na,CO,

NaCl (b) NaOH

(a

[e) MNaHCO, (d) Na,CO,
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Blood is a type of

{a) Epithelial tissue
{b) Muscular tissue
(¢} Nervous tissue
(d] Connective tissue
T U TEN HT

(a) SUB FAD B
o) W wOw B

[c) tfes wo® &
(d) wOR Had &

Lub-Dub’ sound is produced due to
action of :

(a) Large intestine
(b) Lungs

{c} Heart

(d] Oesophagus

a-=4 @fa Traw B & &N
TOEM B ?

- (a) w9 T
(b) BHS
c) ¥
(d) T

Who was the Education Minister in the
first Cabinet of Independent India ?

{a) Sarvepalli Radhakrishnan
(b) Sardar Vallabhbhai Patel
{¢) Maulana Abul Kalam Azad
{d] Acharya Narendra Dev
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s WNa @ WU Amvee A e wE
B &7

(a) VAYTE! THFEH

(b) VNG TEENMIE U

(c) FIATT SgHA FoIA A

(d) @rErd A= €9

Which one of the following associations

was founded in London by Dadabhai
Naorgji in 1866 7

{a) The Bengal British India Society
(b)
(c)
(d)
¥ 1866 H TGS ARG W TEA H,
frforftag ® 9§ -9 Oy (W) @
AT @ g 7

The East India Association
The British Indian Association

The Madras Native Association

la) ® @mer RRRw sfsar S
(b) = Tve ghEaT gEIErE

() = ffew ghew v
(d) = #EM Afcd THIfHTEE

Who is presently the Secretary General
of United Nations Organisation ;

(a) Antonio Guterres

(b) AminaJ, Mohammed

{c) Dennis Francis

{d) None of these

A ¥ Wga g §Y & #ErifEd
g7

(a) TEIFET e

(b) ST S0 HiEwE

(c) = wiftrs

(@) I " BIE AR
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Jelep La pass is located in
(a) Punjab Himalaya
(b} Sikkim Himalaya
(e} Kumaon Himalaya
{d) Kashmir Himalaya
wrorg—ar &3f @Etf amaferd £ ?
a) dw fRerey
(b) fHfdws Eaeg
€) TS fesTerd
(d) wEN fFaeE
Which one among the following is the
coral group of islands of India ?
{a) Andaman {(b) Nicobar
{c) Barren (d) Lakshadweep
frafafes & 4 o9 UF 4RG @
waTe EM-9E § 7
(a) U=HN (b) frepTaTe
() % (d) wrerE
Which one among the following is not a
Fundamental Right under the
Constitution of India ?
{a) Right to equality
() Right to freedom
{¢) Right to citizenship
(d) Right against exploitation
e & WuE § awia freeterad 7 |
F—a1 U e (9e) sfter e 8 ?
(a) A W ARBR
(b) T H AEHN
(c) FATTRET BT AfEEN
(d) SEU % fAvE R
(B-8)
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The Basic Structure Doctrine'
enunciated by the Supreme Court
during the

(&)

WaS

Golak Nath case

(b) Maneka Gandhi case
(¢} Kesavananda Bharati case
({d) S.R. Bommaicase

sy weE e (@R R
Sifae) weuas ey BN Ay A

& IRM frefa famar T ?
(a) TSI AHAT
(b) AT TR AT
(c) AT WG A

TH0 RO AETE AT

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

{a)j B.R. Ambedkar

{b] K.M. Munshi

{c) Krishnaswamy lyer

(d) M. K. Gandhi

=8 W 39 YRa $ wfewe @ uree
wiAfT o1 wee e o1 ?

(d)

(a) Ho INO LS
(b) 0 THO HEM

(¢) FEMEM =R
(d) THO B0 T

Which one of the following is not an
ASEAN member ?

(a) Cambodia
(b) Laos

e} Myanmar
(d} Taiwan
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fr=forfad § § $—W1 [ ASEAN &
Hew AE 2 7

(a) TEEITET (b) o

() AR (d) T

In the term GIS, 'G’ stands for

(a)] Google (b) Geographic

{c) Goodness (d) Geological
csvE i = aftne?

(a) TR (b) s

(c) TETH (a) P
What will be obtained by multiplying the

difference obtained by subtracting 3%

fici g-é- by 450 ?

2250 (b) 2045

(a)

(¢) 2540 (d) 2450

géﬁﬁ 3%@@%%@459
W O FYA TR T WS e P

(@) 2250 (b) 2045
(€ 2540 (d) 2450
If %:E:E then, what is the value of

ratio (C+A) : (A+Bf:(B+C)'?

(a) 64:25:49 (b) 54:35:39
() 64:55:49 (d) 64:25:51
® 52 W s
(C+A):(A+BY :(B+C) @1 717 T 27
(a) 64:25:49 (b) 54:35:39
() 64:55:49  (d) 64:25:51
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Two numbers are in the ratio 1 : 3, If
their sum is 240, then what is their
difference ?

(a) 120 (b} 108

{c] 100 d) =6

9 werd 1:3 B o § #) afd
e GATHE 240 B, @ 991 IR
fepeam & 7
(a) 120
(c) 100
A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then

B leaves the work. In how many days can
A alene do the remaining work ?

fa) 11 L) 13

fc) 15 (d) 17

A 3Fe TP Hrd @ 20 f@GF H @
FY THAT & TaAfB B IHen g6 o Bl
g5 f2 # WA WX waEdr B S
fimey 5 o7 o o € fR B @
gledy Holl W@l &1 99 & B A
arden fome & ¥ e ura ?

(a) (b) 13

(e} (d 17

A can do a piece of work in 4 hours, B
and C together in 2 hours and A and C

together in 2 hours. In how much time
B alone can complete the work ?

(a)
{c) & hours {d) 24 hours

A TF T @ 4 g2 F B ¢ e
3 gue § g A 3R ¢ FeeR 99 2
uve § q¥ &N HH ©| B Hbel I

(B} 108
(d) 96

11
15

10 hours {b) 12 hours

@wrd @ fra wHg § @ e ?
(@) 10¥TR (b) 1299
(¢) 8EVE (d) 24 99
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61. A man goes from A to B at the speed of

60 km/h and returns from B to A at the
speed of 40 km/h. What is his average

speed for the whole journey ?

(a) 50 km/hr
(b) 48 km/hr
() 45 km/hr
(d) 55 km/hr

61. UF AT A I B 9F 60 fFfe wir
e S MO A AT E AN B H A TP
40 Tt oy Tver @ 7 | e 81

ool mEr @ for wwet ofwm wfy
fopeer & 7

{a) 50 fd¥lo /HET
(b) 48 o /Her
(c) 45 & /Her
{d) 55 e /e

62. A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken toreach from Bto A ?

gl =5:3 (b) 2:3
€] 2:1
62. TH Hfaw g A 4 =g B 7% 4
frvito /uveT 9 G W ST & T 9y
fag B ¥ g A @F 6 fovio/ =ver
# 7y dlled 21 A ¥ B 99 qgE
T B Y A TF A H &N WHY @l

(d) 3:2

T @ B 7
] §:3 {b) 2:3
(c) 2:1 (d) 3:2

(B-
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Simple interest on a sum of money is

equal fo —}}- of principal, and number of

years is equal to rate of interest. What is

the percentage rate of interest per
annum ?
(&)l 2.5% ib] 5%
1
(e TE% [d) 10%

mmmwwwﬁé

& aur g9t & de, ufeg g B aNEn
2| = Y Affe =3 et £ 7

(a) 2.5% (b) 5%

(c) ?%% d 10%

Find the compound interest of Rs.

125000 at 8% per annum for @ months,
when the interest is payable quarterly.

(a] Rs. 7651 (b) Rs. 7605

(c)  Rs. 8652 {d) Rs. 8052

125000 B0 &1 8% @If¥® ¢ W 9 A8 &
aFgly e T PIOY, wdld @
femdr <9 8

(al 7651 %0 {b) 705 %0

(] 8652 %0 (d) 8052 %0

What is the value of (0.74 +0.38 +0.90)

(2] 1.B7 (b) 214

e) 356 (d) 412

(074 +0.48 +0.90) &7 Wi FT & ?

(a) 187 (b) 2.14

() 356 (d) 412
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Direction (66-69) : Read the following
information carefully and answer the
questions given below it :

Six friends A, B, €, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end,
B is sitting immediate right to E. F is not at

the right end.

66. How many persons are there to the right
of D ?
ja) One (b) Two
lc) Three (d) Four

67. Which of the following pairs is sitting to

one side of D 7
(aj FB (b) FC
[c) FE (d] AC
68. Who is sitting immediate left of C ?
(al A (b) E
() B (d F
69. Who is at the right end ?
(a) A (b) B
() E (d F

fadw (66-69) : Ffafaa wa &1
wargEe T8 ok Am Ry T e @
IR T

BE %I A, B, C, D, E 3R F I Bl
N s oXD (o AT A @3 §1 C, AR E
HdE T B DT K AE 2| B,E @ OF
T daT 8| F &G A S A T 2|

66. D ST N fFg afeg 2 7

fa) T® (b) &
(¢) d (d) TN
7. fr=foflag § & o9—a1 99X D & US
N JoT & 7
(a) FB (b) FC
¢} FE (d} AC

GET IT ON
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68. C @ Olw 910 TYF T 96T & 7

(a) A (b) E
e} B (d) F
69. TG fbe W @fF da1 8 ?
a A b) B
e} E d) F

Direction (70-72) : Read the following
information and answer the questions given

below

B is the mother of A. C, B's sister, has a
son D and a daughter E. F is the maternal
uncle of D.

70. Howis ArelatedtoD?

{a) Cousin ib) Nephew

{c] Maternal Uncle ([d) Brother
71. Howis E related of F ?

{a) Sister (b) Daughter
] Niece (d) Wife
72, How many nephews does F have ?

fa) Nil (b) One

fg] Two (d] Three

fdw (70.72) : Fr=fefa oHeEN 9
aiR 9 ey Ty yeEt &1 oE d-

B, A ® #f 8| C, B T &\, T (B &2
DEaRuE 4 E | F,D & AL

70. A DA PR EERT & 7

(a) T T (b)
() (@) g
71. E,F 9 59 7R wafea g 7
(a) EF (b) 4
(c) T (d) weH

(B-11)
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72, F @& faber Wil € 7 76.
(2) T@MTE (b)) T
fe) o (d) o=
Direction (73-78) : In each of the
following questions, find cut how many such 76.
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.
73. NECESSARY
O Twao
fa)} One (B) i
¢} Three (d) Four
74, PREAMBLE
&) ©One (b) Two
[c] Three (d) Feour
75. ORIENTAL
(a] One (b) Two 773
(e] Three (d) Four
fAdw (73-75) : Ffafem & 9w
we § Ry 0 gee # ovif @ U9 feoa o
% e 49 oo & 9o € fome & sl i
AqUiATeT H g% 4rg B § ¢
73. NECESSARY
(a) TH (b) =
c) (@) = .
74. PREAMEBLE
(a) UH (b) @
() T ) IR
79,
75. ORIENTAL
(a) T® (b) &
(e} (d) @R
(B-12)
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A set of instructions in a sequential
manner telling the computer what to do
is called :

(a) Instructor (b) Compiler

{c) Program
FHRICR WY, FT BIAI B, Y8 qa @ oy
T wm g kel (FeR) & wE
:Eet]ﬂﬂbfﬁTﬁﬂﬁT%:

(a) FERE (b] FEEA

(c) W (d) P—arE

Electronic components predominantly
used in first generation computers were

(d) Key-Board

(e} Magnetic drum

(b} Transistor

[e}] WVacuum tubes

(d 1IC

wH 0 & FFgR 4 7= w9 9
geldR (& Hed g e o ¢

(a) TEFEFH () FORER

(€ FafTegm @) @A

A source program is directly converted
to .exe file by which of the following ?

{b) Interpreter
fe} Assembler (d) Linker

e 4 @ f59e g™ 1§ Sa AT
A exe Fiea § yRET a7 & 7

(@) FHETER (b) ¥EER

(c) SR (d) ferem

Which protocol is commonly used on
internet to exchange files ?

{a) Telnet {b) Gopher

(d] SP

(a] Compiler

(cj FTP
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. FEd & ea-dedl BY Fewie W
e few Wemle @ enan (oo
W &7
(a) TETE (b) THT
le) Uhedlallo (d) THoUlo
Which of the following command is used
to add hyperlink in a document ? 83.
() Ctrl+F (b) Ctrl+ K
[c) Ctrl+B (d) Ctrl+V
UF oWl § EEuee Sed ® o
fa= # @ fopw IS @& wanT e wmar | 84
g7
Al Ctrl+F (b} Ctri+ K
[e) Ctrl+B (d) Ctrl+V B4.
The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
as:

85.
(a) HDD (b) ROM
fc) RAM (d) sspD
W BT 98 THR @ g 8§ AR IRl i
w1 ¥ @Ra aifva sifee @ wufRd '
Fel B
{a) HDD (5) ROM

86.
() RAM {d) SSD
A web page is primarily written in the
language
a) C++ {b) Python
(¢) HTML (d) Java
T 89 U T i arar & | 5%
forar @ 21
{a) C++ (b) GrEdq

(B-13)
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(d) e

{cj HTML

Every web page has an address
associated with it. This address is

known as

(a) URL (b) 1P

[t} TCP {d) Browser
B39 U9 & WY U Udl el &l B
TH T BT e, BB B |

{a) URL (b) 1P

(cj TCP (d) "SR

A popular protocol for sending e-mail is
fa}] TCP (b) UDP
e} SMTP (d] HTML

TS W & faU U Sy daieien
g

(a} TCP (b) UDP
fc) SMTP (d) HTML

MAC address is ......cooceervrnnnn bits long.

(a) 24 (bl 48

() 124 (d) 64

#% (MAC) TSW .......... TACH T BT 8 |
(a) 24 (b) 48

fc} 124 (d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(a) Bus (b) Channel

(c) Modem {d] Buffer
SRRl HUSRY 8F Wl IUHE B 4
FET T SR 2T WATE B SN B AN
el & 98 FEA §

(@) TH (b) =T
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[c) HieH
FTF stands for
(=)

(d) 9B

Folder Text Protocol

(b} File Transfer Push

(e} Fixed Terminology Placement
(d) File Transfer Protocol

FTP &1 ae9d &

(a) WITSR ST WE@iel

(b) WIES FTHY 99

(c) frawrs =i A<

(d) TEA FAER HISTHId

All the deleted files go to

{a) Recycle Bin

{b) Taskbar

{c) Tool bar

(d) My Computer

o Resfre 2 wd wigel e o o) & ¢
(a) rETaEe fam

(b) TGN

lc) SEER

(d) 1§ HEEER

101
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Which of the following is not an
operating system ?

(a) DOS {b) UNIX

[c) LINUX (d) MS-Office
freferftaa # & oW SifeefT Rea w8
g7

(a) = (b) FfFFaE

(c) forres (d) THOTHO aiffre

The process of switching from one open
window to another is called

(a)

Task switching

(b} System call
()] Moving
{d) None of these

F Al e | g e fser #
fizg & & ufbar @ WEl B

) T fafa
(b) Toed @7
()

(@) =7 B T
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W qF AIP] T8 Y YR Wi B A7 B8 WY 79 TP 7 @l |

g AT g Al

n— B

foeifa w9 : 2 He BT 3 : 90
weril & fov fdy

1. o0 I% B @ gea A el 7 g o o 5 78 we-gfee 5o 16 gel @ & v
forelt & weR W s W wE g€ A & @ g0 v oo B anfy ue W §) AR g g,
o TN WA NEe arel We-gfer ¥ 959 @ o |

2. oI O S weE-uRae § TR Ry e am A e ) e sfilRe swE-gRee w
g A 7 ford ok fmft vor @ s e |

3. ol @ eveer a8 T OMR Sheet # aifta qamd fFeiRa @ ® oder g6 &9 9
o ol § afie Rl vaR @ armews PR € g )| steess A< OMR Sheet ®
e & |

4, ) o-fafts 7w @ forg Puife w@ e @ a0 @ A el @ ER W U W AR
e @) fiftd 7 oY) @ @ offe e @ e @ w9 A fftd o6 ® I9 SW @ T A
AT |

5 30 gE-qRoe ¥ ¥ Bl N o= @t o | 3% | e, OMR STR-TG B 38 Qe 3
iy ¥ | s TE-TE @ 9% FE-YRaGT 3T §Rl o 9 @ A €

6. &9 ye-gfde ¥ g 90 ¥ € | Wew e @ A 1 4@ 2| e e @ oy 1 3
FE ¢ |

7. wm S, T, G TF e @ ae R ud efel A 4 € | oy efeh A A s
o ollv oed R e ¥ o R ), of afeh ¥ 5t v @ A a

8. W yE-YRae ¥ W w1 @ i <) g eig M €|
9. vhe TE i domeey, W w9 /98, A B HUT FoERim SUH WY H @ @
IHET YA BT afd ¢ |

10. st 6 @9 ¥ ow T 5 OMR Sheet % TeU57 Selapie #¥4 gR1 far @ &
¥avd, OMR Sheet W 7o & w8 a0@ ¥ W argen W= gwa! 78 g wim 3N geaies
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& |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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